EREY

{% ﬁ:{iF H EJ

&

ES 4 BT

p=110

Af 64 108 84 |

2212402579569

1, AR

HEEBGES IEmES
&5

100 & 8103

HaF

afn

70HZ—500466

HEMEOE T T8

EﬁEHH/EH$REi AF 6e 108 8n : A e 7 Bt Ba B
2. HE - EHEEHRR
B & O KA ULH TR

BXE£dt v A4 XLl
Br A & O & FF

Eﬁ_:ﬁ?ﬁgﬁﬁfﬁfﬁiﬁﬁl ]Tﬁ’:} g —1 :36012]
EEEDRA UILTH

X %k ok
=8 F o & 5

o

fiE H @ AL o (F 7 |

R R EERREN K LFIL a7 9 -3

(07802 0082 043]

S G

*E‘Eifﬂ.ﬁﬂé&%‘ﬁ

[ Z Dtk 4]
HTA&E

+$___ .
JE . [318]
- ol
—H &5 ¥ 01 % ’ PRI 6R 20
. | .
ﬁmia.%_ ; % | & o= .
H KO | [e—
Ry 78— 3 fo12]] mAER 2)‘5)&?@;5!-_ 11800,
ﬁﬁ‘_ﬂiiﬁ ﬁl—ﬁ%‘} =3 '.*.ré_ |
uomﬁh :E‘B‘ 249804 Eé 1198 ) a 29| = | 340:n
et afe et | , % ;.; - g g . ¢£. _,_;;Z_- - ,?n_. H . i
HIT BT i E ! 3840 ke [EORE? ?ﬂi? | 36304 & i i & 28304 % % i 9770k BEERR X IXERMN | 10.67
— e ey | »
%ﬁwﬁﬁg%% |@K%Eﬁ%_ I
4. %
[#Fh] , Hien, HELE
[aliﬁﬁﬁTA ﬁ?ﬁlQH WHEE 50 UHBHEE
Tﬁxz TAEERTR B 5 %) i
&m$ﬁﬁﬁ{NOx-P 1) #E., ZOEBEOERORMEANO

P M HERME AL T

[EfTRhEEst#RlE] 328, 400km (SFBHE9A2H)
[IA#EfTRRlEs #RE] 260, 000km (SFMGHET7 A6 R)
Rk 2 SELEEAME, BE A7 Z) N3CI1A
FiEPFSREME 8 7dB, HlE@E 1, 200rpm
(lﬂﬁrﬁﬁﬁﬁﬁﬁnﬁumlﬁfﬁ 1, 20071 pm)

v 7 7 — IR S A
[ERAR] 5 Eﬂ“'-":{f‘“
WEH#mﬁﬁg{ﬁiaqﬁE#ﬁJ SREiREaEmRis v
] EEREHE T
_%%I%ﬁ~hjaz—0089

(920) J;f\#i-ﬁ// 1 300L

[HEEWFmE]

MBTEL AT ARFREAOFR LD ;

'_jl__ = T ——— = E P‘
LA ——

]




